ABB BK
Arosserien 4:2

IMP over féaltet, 16 bord, 32 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 107 3.32 Lennart Ekholm - Christer Astrom 50946 38022
2 205 1.73 Carina Héléne - Jan Héléne 56649 56651
3 303 1.35 Lennart Fredriksson - Fredrik Mirhag 9424 15818
4 305 131 Gunilla Rydberg - Kristina Ronnbéack 45333 45336
5 102 111 Zenon Grajek - Hernando Slottsdahl 11752 8996
6 202 1.01 Hakan Lindb&ck - Bengt Nilsson 2658 18043
7 7 0.62 Peter Bjoérnberg - Lotta Engvall 50796 49663
8 3 0.35 Benny Karlsson - Tommy Petersson 9893 12924
9 203 -0.35 Nils Andersson - Solveig Bystrom 3543 57019
10 207 -0.62 Asa Andersson - Jérgen Lundberg 7928 7657
11 2 -1.01 Stefan Andersson - Peter Forsberg 13753 51490
12 302 -1.11 Eva Czajkowski - Christer Stenberg 8995 3984
13 105 -1.31 Kristian Johnsson - Monica Johnsson 84130 30028
14 103 -1.35 Mats Bodén - Per-Erik Eriksson 80071 23457
15 5 -1.73 Barbro Lonning - Elisabeth Waldekranz 64917 52172
16 307 -3.32 Madeleine Bjornberg - Mikael Engvall 49661 49662
17 1 0.00 ---4 - - GIT GUYS - -
17 4 0.00 --- 7 --- - HALLSTA KINGS
17 6 0.00 -
17 8 0.00 -
17 101 0.00 --- 8 --- - BLINDROND DIV 1.
17 104 0.00 ---1---- AROSTUNA
17 106 0.00 -
17 108 0.00 -
17 201 0.00 --- 8 --- - BLINDROND DIV 1. -
17 204 0.00 ---1--- - AROSTUNA -
17 206 0.00 - -
17 208 0.00 - -
17 301 0.00 ---4 - - GIT GUYS -
17 304 0.00 --- 7 --- - HALLSTA KINGS -
17 306 0.00 - -
17 308 0.00 - -
13 410852 Basta kontrakt 14 41076 Basta kontrakt 15 a2 Basta kontrakt
Nord v D652 4v O =-620 Ost v 9752 34 OD-1100 Syd v 9432 44 V =-420
Alla + 104 Ingen + KKn94 NS 4 Kn32
*752 & ¢ v & NT #104 & ¢ v & NT #ED943 & ¢ v & NT
aK64 &E7 N2536 3 4 K9 4 Kn8543 N6 9 5 5 7 | 4KD1098754 4EKn3 N9 9 333
v1097 vEKn43 S 2536 3 v Kn6 v EKD83 S6 9657 |vKn vKD10865 S 9 9 3 3 3
+K75 +D86 O 118 107 9 41083 ¢+75 O7 46 86 |+E9 + K6 O 4 4 10107
#E864 #KD103 V 118 106 9 #Kn98762 &#D V74676 |a&5 2106 V 4 4 10107
# DKn93 4 ED2 46
v K8 v 104 vE7
¢ EKn932 + ED62 + D108754
#Kn9 #EK53 #KKn87
Par Kontr Ut  Res Poang Par Kontr Ut  Res Poang Par Kontr Ut  Res Poang
107 307 3NO-1 ¢3 100 85.0 -85.0 3 203 2NS= #2 120 37.0 -37.0 2 202 44 V= v3 -420 4.0 -4.0
5 205 3NO= 49 -600 -6.0 6.0|107 307 2NS= aK 120 37.0 -37.0 7 207 44 V= ¢2  -420 40 -4.0
102 302 3NO= «Q -600 -6.0 6.0 2 202 2NS-1 %6 -50 2.0 -2.0|102 302 44 V= &A  -420 40 -4.0
2 202 4v O= 4Q -620 -13.0 13.0 7 207 2¢ S-1 v -50 20 -2.0[103 303 44 V= ¢J  -420 4.0 -4.0
7 207 3NO+1 ¢2 -630 -13.0 13.0 5 205 4¢ N-2 vA -100 -11.0 11.0|105 305 44 V= A -420 40 -4.0
103 303 3NO+1 5 -630 -13.0 13.0(102 302 3NS-2 &6 -100 -11.0 11.0|107 307 44 V= v3 -420 40 -4.0
105 305 3NO+1 2 -630 -13.0 13.0(103 303 5¢ N-2 vA -100 -11.0 11.0 5 205 44 V+1 3 -450 -40 4.0
3 203 3NO+2 +2 -660 -21.0 21.0|105 305 4¢DN-2 vA -300 -450 45.0 3 203 54 V+2 v9 -510 -20.0 20.0
16 oK Basta kontrakt 17 + D10985 Basta kontrakt 18 ~E87 Basta kontrakt
Vast vD1072 44 V =-620 Nord v43 3¢ N =110 Ost v D864 3v O =-140
ov + DKn95 Ingen + EK8 NS 4 Kn852
#7432 & ¢ v & NT #EKn8 & ¢ v & NT %102 & ¢ v & NT
4 D543 4 E876 N36 4314 47432 4 EKKn N3 9867 4 D10653 4 Kn4 N8 4445
vKn864 vE5 S 36434 vEK v D962 S 49867 vEKn93 vK105 S 84445
¢ 43 ¢+ EK8 O 107 9 109 +3 ¢ Kn964 08 4466 + 1076 ¢ ED943 059 987
#DKn6 #EK109 V 107 9 109 #K109654 %72 V84466 &K D93 V59987
4 Kn1092 46 & K92
v K93 v Kn10875 v72
+ 10762 + D10752 *K
#85 «D3 #EKn87654
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
107 307 44 O-2 &8 200 61.0 -61.0 2 202 3NO-3 ¢2 150 28.0 -28.0(105 305 2NO-4 &6 200 44.0 -44.0
2 202 44 O-1 +6 100 45.0 -45.0 7 207 2NO-3 v5 150 28.0 -28.0 5 205 44 V-3 #T 150 34.0 -34.0
102 302 4v O-1 4J 100 450 -45.0(102 302 2NO-2 v7 100 16.0 -16.0 3 203 2¢ V= *A 90 -11.0 110
103 303 44 O-1 +6 100 45.0 -45.0|107 307 2NO-2 vJ 100 16.0 -16.0 7 207 24 O= v7 -90 -11.0 11.0
5 205 3NO= 4J -600 -47.0 47.0 3 203 14 N-1 5 -50 -11.0 11.0(102 302 2¢ O= *A -90 -11.0 110
105 305 3NO = 4J -600 -47.0 47.0 5 205 14 N-2 ¢6 -100 -22.0 22.0|107 307 2¢ O= *A -90 -11.0 110
3 203 44 O= v5 -620 -51.0 51.0(103 303 3& V= v4 -110 -23.0 23.0 2 202 24 O= T -110 -17.0 17.0
7 207 44 O= #8 -620 -51.0 51.0|105 305 2NN-3 47 -150 -32.0 32.0|103 303 3¢ O= A -110 -17.0 17.0
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19 & KKn95 Basta kontrakt 20 4532 Basta kontrakt 21 » EK1062 Basta kontrakt
Syd v7 44 SD-2-300 Vast v K873 2NTN =120 Nord vE76 5¢ O =-400
ov ¢ ED642 Alla ¢+ D5 NS + 1098
*K43 & ¢ v & NT #KKn104 & ¢ v & NT «D4 & ¢ v & NT
«E3 # 842 N29 285 48 «E10764 N55778 a7 « DKn9 N11991
vKDKn953 v ES864 S$29285 v 1096 v D52 S55775 v 832 v9 S11991
¢ Kn9 +8 O 104 104 8 ¢ EK109432 « - 0785675 ¢ 653 ¢EKKn742 O 11114 4 5
«D107 #E9862 VvV 104 104 8 #E9 «D7632 V7856 4 #EK9863 #Kn72 V 11114 4 5
4 D1076 4 KDKn9 48543
v 102 v EKn4 v KDKn1054
¢ K10753 ¢ Kn876 ¢D
#Kn5 85 #105
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
102 302 44DS= vK 590 99.0 -99.0|103 303 3+ V-1 45 100 35.0 -35.0] 3 203 5¢DO-2 vK 300 60.0 -60.0
3 203 3vV+1l +5 -170 30.0 -300| 2 202 2¢ V= v7 90 -3.0 3.0(107 307 5¢DO-2 vK 300 60.0 -60.0
107 307 3v V+2 &9 -200 250 -25.0( 3 203 2¢ V= +Q 90 -30 3.0 7 207 34 N= ¢A 140 39.0 -39.0
105 305 3v V+3 #A -230 20.0 -200| 5 205 2¢ V= a2 90 -30 3.0(105 305 4¢ O-1 vK 50 25.0 -25.0
2 202 4y V= 49 -620 -41.0 410| 7 207 2¢ V= 45 90 -30 30| 5 205 5vS-2 ¢6 -200 -12.0 120
5 205 4v V= v7 -620 -41.0 41.0|102 302 2¢ V= a2 90 -30 3.0 2202 5¢ O+1 vK -420 -41.0 41.0
7 207 4vV+l v7 650 -46.0 46.0|105 305 3¢ V= «T -110 -10.0 10.0|103 303 54DV= &A -550 -59.0 59.0
103 303 4v V+1 97 -650 -46.0 46.0 (107 307 3¢ V= v7 -110 -10.0 10.0|102 302 5¢DO+1 vK -650 -72.0 72.0
22 4 EK4 Basta kontrakt 23 4 K965 Basta kontrakt 24 464 Basta kontrakt
Ost v E987 5NT S =460 Syd v973 3NT S =600 Vast v K107 2NTN D -1-100
ov ¢ 107 Alla ¢ 832 Ingen ¢ E1072
#ED93 & ¢ v & NT #Kn107 & ¢ v & NT #K863 & ¢ v & NT
49753 4Knl0862 N 1110108 11 «D8732 «EKn4 N7 9669 «ED753 4K92 N6 8757
vK32 vKn64 S 1110108 11 v D85 v EKn64 S6 96629 vE9532 v4 S68757
¢E952 +K3 023352 ¢1094 K 06 4674 ¢ 65 ¢ Kn94 073586
#K10 %642 V23352 84 #D6532 V63573 &Kn #D109754 V 7 3 5 8 6
4D +10 4 Kn108
v D105 v K102 v DKn86
¢ DKn864 ¢ EDKn765 ¢ KD83
#Kn875 #EK9 *E2
Par Kontr Ut  Res Poang Par Kontr Ut  Res Poang Par Kontr Ut  Res Poang
3 203 3NN= «J 400 27.0 -27.01102 302 24 V-2 +2 200 21.0 -21.0| 7 207 3NS= «J 400 72.0 -72.0
7 207 3NN= «J 400 27.0 -27.0| 3 203 3¢ N+2 4 150 80 -8.0(/103 303 3¢ S+1 #J 130 31.0 -31.0
102 302 3NN= «J 400 27.0 -27.0|107 307 2¢ N+3 &4 150 80 -80| 5 205 4¢ N-1 v4 50 -20 20
107 307 3NN= «6 400 27.0 -27.0| 2 202 2¢ S+2 %8 130 40 -40| 3 203 24 V= 6 -110 -16.0 16.0
103 303 INN+3 42 180 -18.0 18.0| 7 207 2¢ S+2 &8 130 4.0 -4.0[102 302 24 V= 4 -110 -16.0 16.0
5 205 3#N+1 &4 130 -29.0 29.0| 5 205 3¢ S= «7 110 20 20| 2 202 34 V= ¢A  -140 -23.0 23.0
2 202 INN+1 42 120 -30.0 30.0|105 305 3¢ S= «8 110 -20 2.0]105 305 24 V+1 ¢A -140 -230 23.0
105 305 1vy N+1 48 110 -31.0 310|103 303 3¢ S-1 42 -100 -41.0 41.0|107 307 34 V= v7 -140 -23.0 23.0
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